
���������	
�� 
�
��� ��������

�������������	����

�
�� �

�

��
�

�
������������������� !"�#!$%�$�!���!&�"�%�!$'

�()�*�+
�,-'

� � ����. /+�.

0



�1



��



+



��



�/



����������


�����������

����������


���	������


���	�������

���	������


������ ���������� �������� ���	���� �����

�� ()�*�+
�,-2��$34��!�3 �� /+ .

�(��

��%

(�5�*� �6�,-2��
���

(�5�*���6�,-2��
���

(�5�*� �6�,-2�+71444�
���

(�5�*���6�,-2�+71444�
���

1�


�+


6�


10


�6


1+


��




��


.

.

.��

.��

�3�83%'#"

�3�83%'#"

%9
�:
�;

(�5�*���6�,-

(�5�*���6�,-2� �*�6
444/
�:<

(�5�*���6�,-

(�5�*� �6�,-2�%�&4�8����

(�5�*� �6�,-2�
=�*�11�Ω2�%�&4�8����4

6



�



+


+
�8��6


�6
�8�1



��




6


+


+
�8��6


�6
�8�1



�8µ�

.8µ�

µ�

�.

�.

�(

�(�(�'

"(

���2��
�

(�5�*� �6�,-2��(�*��6�.

(�5�*���6�,-

(�5�*���6�,-

(�5�*���6�,-2�����*���
�2��
��*��

�

�7�6

�7�


�


���4�+

�70

�

�


���4��


�

�

�Ω
�.

�=(

�=(

�=�

�=�

(�5�*� �6�,-2�3#

(�5�*� �6�,-2�3#

(�5�*���6�,-2�3#

(�5�*���6�,-2�3#

�

�




7�6

1

�

�




7�6

1

�

�.

�

�.


%)5)�
�' &�"�%)�"��%!" �7� �7� 	8>

(�5���

(�%?

(�!�3�" %�"��$���7��
��

���
�444�@���6

���
�444�@���6

�/


,-

,-

,-

���!�

��

A

�4#4�6
�:<2�"4�4�4����8����$

�!�$%�$?�%!"9��

1


�8��6



�76

1


�B

��

?

-��� (��6

��������� 

����!���"��#�$!��%#�
&#'��(�#!�

��������
���	����

)#"�*!#�

C -!�&�#%�3���?$

C �$���#"�A��!�$%�$?

C :��%�%"�$� �"��$3���!��%�!$�

%)"!�?)�3�"�#%�#!&&�"��!$3�3�

�����$����!��3��#�"���#���-�'

C =�����&������%�3�%)�"��%!"�#)�&�

C D&�%!��/

���"���"����!�%�?�

C )�?)���"?��#�""�$%�

C D;�"�#!?$�<�37� ����$!4���/1�61�

C (�&�#���.&&��#�%�!$�

C 
���"��$?��-��!%!"�

C -!$%"!���3� ���3�"�#%� ��"� !"��-�

3"����

C -!$%"!���3���%%�"��#)�"?�"�

"�#%� ��"�

�' ()�"����"����%�$#��5�$#%�!$�%!�
)��%��$E

��



�������+ 
�
��� ���������	
��

�������������	����

0,4

0,6

0,8

1

1,2

1,4

1,6

1,8

1 10 100 1000

SK40DT.xls - 2.2

IT(OV

)
I

0 · VRRM

½ · VRRM

1 · VRRM

t ms

IT(OV)

ITSM

1/6 SK 70 DT

0,4

0,6

0,8

1

1,2

1,4

1,6

1,8

1 10 100 1000

SK40DT.xls - 2.1

IT(OV)
ITSM

0 · VRRM

½ · VRRM

1 · VRRM

t ms

IT(OV)

ITSM

1/6 SK 40 DT

0

10

20

30

40

50

60

0 10 20 30 40
ID A

PTOT

W

SK40DT.xls - 1.1

SK 40 DT

0

20

40

60

80

100

0 10 20 30 40 50 60 70
ID A

PTOT

W

SK40DT.xls - 1.2

SK 70 DT

F�?4�����"?��!��"�!�3�#�""�$%���4�%��� F�?4�����"?��!��"�!�3�#�""�$%���4�%���

F�?4���G!A�"�3����&�%�!$���4�!�%&�%�#�""�$% F�?4���G!A�"�3����&�%�!$���4�!�%&�%�#�""�$%

F�?4�1�F!"A�"3�#)�"�#%�"��%�#�! ���$?���%)�"��%!" F�?4�1�F!"A�"3�#)�"�#%�"��%�#�! ���$?���%)�"��%!"



���������	
�� 
�
��� �������0

�������������	����

0,0

0,2

0,4

0,6

0,8

1,0

1,2

1,4

0,001 0,01 0,1 1 10 100

SK40DT.xls - 4.2

t s

Z(th)jh

°C/W 1/6 SK 70 DT

0,0

0,4

0,8

1,2

1,6

2,0

0,001 0,01 0,1 1 10 100

SK40DT.xls - 4.1

t s

Z(th)jh

°C/W 1/6 SK 40 DT

F�?4���()�"����%"�$���$%���&�3�$#����4�%��� F�?4���()�"����%"�$���$%���&�3�$#����4�%���

F�?4�6�=�%��%"�??�"�#)�"�#%�"��%�#��! �����$?���%)�"��%!"

F�?4�6�=�%��%"�??�"�#)�"�#%�"��%�#��! �����$?���%)�"��%!"



��������
 
�
��� ���������	
��

�������������	����

��������� 

��������

���	����

-����(��6

����$��!$���$���

()���%�#)$�#����$ !"��%�!$��&�#� ��������#!$3�#%!"�3���#�����%�&"!������$!�#)�"�#%�"��%�#�4��!�A�""�$%��!"�?��"�$%�����&"����3�!"�
��&���3������3��"�?�"3�$?�3�����"�7�&�" !"��$#��!"����%�����%�4


